Industrial and Firm Economics 

1h45

6th of April 2011

1.Consider an industry operating under monopolistic competition which is in long-run equilibrium.

a) (1,5) Explain the effects of a decline in the wages of the workers of that industry.
b) (1,5) Explain the effects of an increase in the demand of the product of that industry.

c) (1,5) Compare the final effects of the two previous events.

2.a) (1,5) When Galp cuts its price toward a new monopoly price, it tends to expect to be followed by BP and Repsol. Why?

b) (1,5) When Galp raises its price toward a new monopoly price, it tends to expect to be followed by BP and Repsol. Why?

3. (2,0)  Explain the following assertion:

“A private physician who decides to cut the price he charges to patients will observe two opposing effects on his profits.”

Illustrate your answer with a graphical analysis.
4. Auctions and comparative audiences are often used by the government to select the firms which will have the privilege to operate in an industry where, for some reason, there is space for only a few firms.
a) (1,5) What are comparative audiences?
b) (2,5) Do you agree with this method?

c) (2,5) Compare a simple auction with a modified auction.
5. (4,0) The goodwill of consumers in favour of established firms allows these to enjoy above-normal profits in the long-run. Why?
